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EXBALEESRE 268, 710
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1-9 5AFLLIERRAEER 1.00 268, 710 268, 710
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=
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1-14 [R3RMQ B 1.00 632, 449 632, 449
=
BKEE 23, 264, 320




BHHEENRE SFNAE AP (K T ~ B8R F 1 BOMBE(—14m)B i TH(HE2R)

4 [} IR - WAKTiE B B = B {f & £ =

1-15 %42 36. 00 6, 837 246,132

=
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=
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=
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=
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EEIEE 120, 546, 332
BEIER 42,050,198 + 32,129,074 74,179,272
HBERERE GH 31,962,143 + 9,677,284 + 410,771 42,050, 198
HBRHE (BLE) 31,962, 143
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2 b g - BIRTE By = B O %8 W = " =
55 TREMEBRBER) (R/8y FX) #8D 30. Om3
B 1.00 4,355,013.00 4,355,013|3.50H / 10H
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& B YEZERES : 698.00m 3 6, 756. 00 4,715,870
&5 :1-2
B U5 TBEQ VHEY XM NiE30RE IKiZE15~30mkiE 1HHY (691Tm 3)
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B SAISIER
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EFRVHF & EFEVHF 457
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EFRVHF &1 EFEVHF 457
B 16. 40 617.00 10,118
MR 2E0%
% 0.50 1, 884, 605. 00 9,423
& B 1YE%HeH - 1.00K 1, 894, 028. 00 1,894, 028
&5 :1-14
B RIRAMRQ B 1LY
2 b g - BIRTE By = BHO(f %8 W E " =
L3RR FRP D 340PS#Y
B 4.80 130, 488. 00 626, 342/ 8.00H / 10H
EFRVHF & EFEVHF 457
B 4.80 617.00 2,961
MR ELNOY
% 0.50 629, 303. 00 3, 146
& B 1E%HeH - 1.00K 632, 449. 00 632, 449
= :1-15
B BRAE 1THHY (22.4h3)
2 b g - BIRTE By = BHO(f %8 W E " =
REE S4 kY 2L
B 1.00 3,133.00 3,133/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 48, 220. 00 48, 220 8H
RIS HRER
A 1.00 40, 000. 00 40, 000
Bl S H A
A 1.00 30, 700. 00 30, 700
BEBF
A 1.00 29, 600. 00 29, 600
MR ELNOY
% 1.00 151, 653. 00 1,516
& B YEZRES : 22. 40t 2 6, 837. 00 153, 169




Rifiz -/ \v7r—o

T4 FEEMMBE(KEF ~ R8P HhROMEB(14m)RETEE2R)

&5 :1-16
&7 . BKEE 1B%HY (193.2m2)
2 b g - BIRTE By = B O ® # " =
Bk D 180PSE! 3~5tH
B 1.00 148, 208. 00 148, 208 8H
HEEEE Bk 203!
B 1.00 19, 305. 00 19, 305
MR 2E0%
% 3.00 167,513.00 5,025
& B YEZERES : 193.20m 2 893. 00 172,538
&5 . 1-17
25 MESERK 1LY
2 b g - BIRTE By = B O ® # " =
BIEFEHEM
A 0.50 45, 700. 00 22,850
RIS HRER
A 1.00 40, 000. 00 40, 000
Bl S H A
A 1.00 30, 700. 00 30, 700
MR ELNOY
% 0.50 93, 550. 00 467
& B 1E%HeH - 1.00K 94,017.00 94,017
&5 :1-18
2% EBHRRA 1LY
2 b g - BIRTE By = B Ol ® # " =
EBHRERERE
= 1.00 200, 000. 00 200, 000
& Hi 1E%Heh - 1.00K 200, 000. 00 200, 000




REAR-ET/Avr—> AHAEEBIFTAER KT ~ R E 1 ROMBS (-1 4m)if 8 TE(HE2R)

&5 :1-19
& KERRHED J5TREM MM x1E 1LY
2 b g - BIRTE BT H = B O ® W = " =
KEREF
= 1.00 31, 945. 00 31,945
& Hi 1YE%HeRH 1,00 31, 945. 00 31,945
&5 :1-20
& KERBRHO EM1300m3tE x 3% IEE)
2 b g - BIRTE BT H = B O ® W E " =
KEREF
= 1.00 13, 636. 00 13, 636
& Hi 1E%HeH - 1.00K 13, 636. 00 13, 636
&5 1-21
2 KERBEHO EKIMmx16% 1LY
2 b g - BIRTE BT H = B O ® W E " =
KEREF
= 1.00 72,7217.00 12,727
& Hi 1E%HeH - 1.00K 72,7217.00 12,727
&5 :1-22
£ IBEREE BRI GEKEE) x16A 1K%Y
2 b g - BIRTE BT B = B Ol ® W = " =
SEREH
= 1.00 65, 454. 00 65, 454
& Hi 1E%HeH - 1.00K 65, 454. 00 65, 454




Rifiz -/ \v7r—o

T4 FEEMMBE(KEF ~ R8P HhROMEB(14m)RETEE2R)

&5 2-1
£ AEEE IEE D)
% g FE - BKTE BfL = B ® B S " %
B2 F AT AR
A 2.00 45, 700. 00 91, 400
I8 R
A 3.00 40, 000. 00 120, 000
B = A
A 3.00 30, 700. 00 92, 100
MM 20
% 1.00 303, 500. 00 3,035
& i fE8eH : 1,00k 306, 535. 00 306, 535
&5 22
£ BMER() IR 23E3ZY IEE D)
% g B - BKTE BfL = B ® B S " %
AEWHENE
A 2.00 24, 200. 00 48, 400
vy 2t
= 1.00 25, 334. 00 25,334 4. 70H / 8H
MM 20
% 1.00 73, 734. 00 737
& & fE%EES 1. 00K 74, 471.00 74, 471
&5 :2-3
L BAMIERR () BRI 23EEHY IEE D)
% g B - KT BfL = B ® B S " %
AEWHENE
A 2.00 24, 200. 00 48, 400
vy 2t
= 1.00 25, 334. 00 25,334 4. 70H / 8H
MM 20
% 1.00 73, 734. 00 737
& i fE%8eH : 1,00k 74, 471. 00 74, 471




Rifiz -/ \v7r—o

T4 FEEMMBE(KEF ~ R8P HhROMEB(14m)RETEE2R)

&S24
LM BETAN) BIE IEED)
£ 5 L - BIRTiE BAf = B & % = 1%
REE S4 kY 2L
B 1.00 3,133.00 3,133/2.00H / 8H
B2 FEHER
A 1.00 45, 700. 00 45, 700
RIS HRER
A 1.50 40, 000. 00 60, 000
B
A 1.50 30, 700. 00 46, 050
BEENF
A 1.00 29, 600. 00 29,600
BIEf FRP D 70PSZE!
B 1.00 48, 220. 00 48, 220 8H
GNSS;BIfI & DGNSS
B 1.00 18, 150. 00 18, 150
TILF E—LEEBIFEE 36~455kHz
B 1.00 331, 650. 00 331, 650
HEMH 2EDY
% 1.00 582, 503. 00 5,825
& B 1E%HeH - 1.00K 588, 328. 00 588, 328




Rifiz -/ \v7r—o

T4 FEEMMBE(KEF ~ R8P HhROMEB(14m)RETEE2R)

&S :25
LW BETANQ BIE IEED)
£ 5 L - BIRTiE BAf = B & % = 1%
REE S4 kY 2L
B 1.00 3,133.00 3,133/2.00H / 8H
B2 FEHER
A 1.00 45, 700. 00 45, 700
RIS HRER
A 1.50 40, 000. 00 60, 000
B
A 1.50 30, 700. 00 46, 050
BEENF
A 1.00 29, 600. 00 29,600
BIEf FRP D 70PSZE!
B 1.00 48, 220. 00 48, 220 8H
GNSS;BIfI & DGNSS
B 1.00 18, 150. 00 18, 150
TILF E—LEEBIFEE 36~455kHz
B 1.00 331, 650. 00 331, 650
HEMH 2EDY
% 1.00 582, 503. 00 5,825
& B 1E%HeH - 1.00K 588, 328. 00 588, 328

10




Rifiz -/ \v7r—o

T4 FEEMMBE(KEF ~ R8P HhROMEB(14m)RETEE2R)

BS . 2-6
& TILFE—LBEN) EI 1B%Y (1.1km2)
£ 5 L - BIRTiE BT = B & % = " =
REE S4 kY 2L
B 1.00 3,133.00 3,133/2.00H / 8H
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